sy [Rm]:
LEFP

E3407105 8 R - AR A AR
%3+ < | B [15505]
D (1)BARA L (242538 3 ¢ CHNET+SQL

KHE R N H o B

TR EL A IGREE

S

@i:®ﬁ§ﬁﬁﬁé§4%~»%ﬁ%%%ﬁ\@&%ﬁﬁﬁ‘ﬁﬁﬁw%?w%’%ﬁﬂkﬁi%¢w

foe

FARARIE > ER A %gi/w\ofé%éhjxkgﬁbsf%g—g,g‘zé:{az%gi/;o

@dxpé%;,; S H ,;Fw«’sg% Nggﬁgg,ﬁ{gﬁwwﬁ; 25 A o
AERALVIE RS HE ARG LN ERL T HRENTE 0 S A T AR £ A U
é’?vl’"?e

O s HFFEEBRT AL A HUCERAA R PR AN ER S 3 A PR
@ﬂ\IEiE'J.% FEerBIALT I VIR ETmMddcs 1A~ REFANHR) L7 F
MBS ERY 4"'.‘)?5&-5&#*7» f»*FL'I'L’ THFVHEEWENL G AR > G Est IR
4*'?1"” Zade 10 & 5 3% EFRARRELIGER®RS é\lbﬁ'f‘ﬁ
@ié?;*aﬁmsa.'r s AR F,F;%FM:?A\’” o

%=

L N iR - % - A=
7»3%’&3")?—5«50?-[?"@1;1]]’;%.

Bart L2 £ g > B s oo SRR EIRR 0 F S B RS 13 1
Efc o FR R o s FTRE s SRS H LR ? [84])

(z) Bar2 L4 £5]aMp 7 » TREHETAERBAP R » A los ~ 2 F S 3 B3k Bis
FARR o X A RBO LS T R T BRI R T S - 3R R R
e s R SRR EA B S R 2 [9 4]
et X2 £3f Y > LT ehE BT 2 REERT - koo B 7
Efc- £ 55k 2RI B X 6%k B A viAA L g -
fatp ke f-d a0g 2 5k o ;ﬁ‘ﬁ: B s oo s TE s S HaBEEA B AR ? [8 4]

31 h3 L9 4 13k &

’ g‘ %'E‘ ﬁ:‘j l‘\l NN

A .

T OE TR AL

(- ) FF A AL EEIAADIBFP3 381 F> §AFTIOLLLPE60% %
He FIAJeL AL FRE-FLET SIS ? [94]

() F4BIAFOBH*AFTUABIPRA-JF1F>dm 3BT AT BH A7

210X P RAP-F1iTe FEHIEHEI0OBA A ki FH 222 [84]
(Z) 1T AT AT R 2 Aha GGEE1FT A8 X 28 o §F Ak
Ag i #HT T kI e 3 A p e 1 (ER A - FipH A (Fa

% 3,200 ~ > L TRV G A FRDRAT R T EEED S CIF? [84]

FZH

PF W CHFZ L RBT A ZAERE = R T St ﬁ;‘f’%f%’*ﬁﬁﬁjx\ﬁ;mr{
?‘)ﬂtw v FEFN2 7 -1—;:_%] uléw'ﬁ}@ﬁl’ i ?f*'?fRﬂ

(1) & 4T » Mg ‘33”520000% v B iR 7} Z 5 5% o

(2) % fc » % * 520,000 = > {z K3t & %2 1,170,000 = > B #F{8 fk 5 12% -
(3) &4 » # ** 1,170,000 = » | #i% f% 5 20% o

P i 4e] 2 e ~ 5 1,200,000 & > 4 R ER A5 0 520,000%0.05 +
(1,170,000-520,000)*0.12 + (1,200,000-1,170,000)*0.2 = 110,000 - ; [25 4 ]

Public static void Main()
{
double yourincome;
double yourTax;
Console. erte(“'ﬂ—@ﬂ G e~ £3F 1),
------ T R4S B AR e

g
FALE? B 1T & EEP 4o
employees(e_id, title, name, gender, birthday, address, salary, d_id)
% P
1. e_id & A 3 s%L(int), title & A 1 s fi(varchar), name % i 1
= B 1 {4 %] (varchar), birthday "“a A 1 2 p (date), address
salary = B 1 #F(int), d_id 5 R 1 3%F SE(int) o
2. - R YA - IB*KF"’ .- IL%*KF’B P SR
4 SQLFE 0 B z'zT 7 (Query) :
l%# AEBALE 6 MR- X AT title o [5 4]
FAR TP L oA R L TT ) ko BT noe

#+ ¢ (varchar), gender
A 1 @4k (varchar),

s
v
-

(z) 7y
(d_id)fr-* 3255

(E BN NI IaEE > Lk T0ETD B PIMET > BT BN R
¥ (avg_salary) - [5 4]

() sl A7 4 pehRadEs =87 name - [5 4 )
() 73R I A fick 3t 15 4 ehn P B fe & #ic 3 =47 d_id fr count - [5 4 ]



